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- A U] : Ni, Cr, Mg 3/ &&29] 5% 744 (0.44 ~ 0.659] 7+&)
PMI0, As 5 970 59 5 271 (012 ~ 4804 37D
- 23 S Ni D) &89 5= 24 0.399) 72

PM-10, As & 107 a2 = 57} (0.02 ~ 3.834] F7D

T8 RO | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

o

—
[=5)
==

] 0.14 | 480 | 2.87 | 3.00 | -044 | 0.12 | 0.22 | -0.65 | -0.49 | 0.00 | 0.31 | 0.14 | 0.96

AAsEdE] | 0.14 | 3.83 | 1.02 | 1.00 | -0.39 | 0.39 | 0.30 | 0.00 | 0.09 | 0.00 | 1.69 | 0.02 | 157

¥ 3MGEHE, BA, FHFE4 5

o
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g
k)
o

o W7l T=5 23

(S :pg/ m)

4
M

2730 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

3t = 15 | 0.0030 | 0.0077 | 0.0003 | 0.0012 | 0.0094 | 0.1622 | 0.0010 | 0.0716 | 0.0000 | 0.2067 | 0.0033 | 0.0699

gl
uie
ol

A 17 1 0.0029 | 0.0100 | 0.0004 | 0.0031 | 0.0239 | 0.3050 | 0.0034 | 0.1075 | 0.0000 | 0.2956 | 0.0079 | 0.0736

3+ 16 | 0.0029 | 0.0089 | 0.0004 | 0.0022 | 0.0167 | 0.2336 | 0.0022 | 0.08% | 0.0000 | 0.2511 | 0.005% | 0.0718

k=] 14 | 0.0005 | 0.0023 | 0.0001 | 0.0039 | 0.0149 | 0.1909 | 0.0063 | 0.1740 | 0.0000 | 0.1923 | 0.0049 | 0.0366
A4 14 | 0.0006 | 0.0044 | 0.0002 | 0.0036 | 0.0120 | 0.1802 | 0.0022 | 0.0823 | 0.0000 | 0.0932 | 0.0055 | 0.0279

X273 7] PM-10 100ug/nt (¥ H ), Pb 0.5ug/ni (%8 )
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- A9 Opl: N, Mg 27 329 =5 7kA 0.29 ~ 0.499) 7+4)
PM-10, As 5 107 &9 = =7} (0.19 ~ 4.008] =7p
- AW U on] - As, Pb = 117 3= =% =7} (0.27 ~ 29.008] =7

PM-10, Be 271 @52 5% W3gls (000 - 572 99

= H

Be Ca Cu Al

oo

0.25 | 400 | 3.81 | 0.50 |-0.29 | 1.41 | 0.66 | 1.50 | -0.49 | 0.00

L

0.19 | 2.00 | 0.79

Lojrt
Enlrw

0.00 | 29.00 | 4.13 | 2.00 | 1.00 | 0.42 | 4.17 | 2.33 | 1.22 | 0.00 | 6.77 | 0.27 | 4.22

o]

- Y(Pb) : 0.0077pg/nd & 34 7]2(0.5pg/nd)2] 1.5%

O~ =2,
T o

(S :pg/ m')

-

Mo
2
S

As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

o
e

15 0.0030 | 0.0077 | 0.0003 | 0.0012 | 0.0094 | 0.1622 | 0.0010 | 0.0716 | 0.0000 | 0.2067 | 0.0033 | 0.0699

2}
e

12| 0.0006 | 0.0016 | 0.0002 | 0.0017 | 0.0039 | 0.0975 | 0.0004 | 0.1406 | 0.000 | 0.1734 | 0.0011 | 0.0390

=4 15 | 0.0001 | 0.0015 | 0.0001 | 0.0006 | 0.0066 | 0.0314 | 0.0003 | 0.0323 | 0.000 | 0.0266 | 0.0026 | 0.0134
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PM-10, As & 1) 359 5% 571 (0.31 ~ 6.254] Z71)
- 23 9 oFl: Ni, Mg 27) 389 =5 7hA (0.06 ~ 0.108) Z+4&)
PM-10 5 107} &H=¢] == 27+ (0.36 ~ 3.14% 27D
T8 PMI0 | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
ESR=lsi]] 031 | 625 | 426 | 3.00 | 1.07 | 1.41 | 162 | 1.43 | -0.37 | 0.00 | 0.95 | 1.47 | 1.97
28]
(81
AA=Loy] | 055 | 3.14 | 052 | 1.00 | -0.06 | 1.19 | 0.50 | 0.70 | -0.10 | 0.00 | 1.41 | 0.36 | 1.20
- F(Pb) : 0.0100pg/m = 273 7120.5ug/m)e] 2.0% =<
(H9:pg/m)
TE BRI As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=4 17 0.0029 | 0.0100 | 0.0004 | 0.0031 | 0.0239 | 0.3050 | 0.0034 | 0.1075 | 0.0000 | 0.2956 | 0.0079 | 0.0736
a4 13 0.0004 | 0.0019 | 0.0001 | 0.0015 | 0.0099 | 0.1166 | 0.0014 | 0.1701 | 0.0000 | 0.1517 | 0.0032 | 0.0248
A=y 11 0.0007 | 0.0066 | 0.0002 | 0.0033 | 0.0109 | 0.2032 | 0.0020 | 0.1201 | 0.0000 | 0.1228 | 0.0058 | 0.0335




O BAL A7) AY =% H|1 (92 N2 02RO 2020. 82 X2 HIm]

- FAAS din] : Ph, Cu, Fe 5 67 @52 AEo] 9A e o
Cd, Cr, Mn & 57} &5 7ol =7 Yehd.

- 24419 i\ Ph, Cd, Cu 5 PN @52 Aol WA yestoeH
Cr, Ni 27) @52 7ol =4 Yehd.

- g(Ph) F5 : Aol T4k, ARG 9A YER.

- 73 0.0023pg/md - F4F 2 0.0045pg/md - =4F 0 0.0722/md

- AFe) 5= @ Aol F4h 4R WA Yebd.

- 78 0.1909pg/m - FAF 0 0.3062/md - &4 ¢ 0.2601pg/m

(S :pg/ m')

oX.
-9

0.0023 | 0.0001 | 0.0063 | 0.0049 | 0.0149 | 0.1909 | 0.0039 | 0.0366 | 0.1923 | 0.1740 | 0.0005 | 0.0000

k=
(2020. 8)

T
2

0.0045 | 0.0000 | 0.0038 | 0.0095 | 0.0143 | 0.3062 | 0.0030 | 0.0882 | 0.1846 | 0.1879 | 0.0008 | 0.0000

o
2

0.0722 | 0.0038 | 0.0014 | 0.0318 | 0.0152 | 0.2601 | 0.0024 | 0.0985 | 0.2585 | 0.2100 | 0.0157 | 0.0000

(S :pg/ m)
Pb Fe
i3 1
1 i
03
0.08 0.0722 06
0.0023 0.0045 “ 0.3062 0.2601
A B = 3 S 24




O it &t Ad 34 & Hlu

A1 ohH] : Pb, Cd, Cu 5 67 a5 7ol WA ek

-z

Cr, Mn, Fe 5 57 &5 7ol =4 yed.
- 24219 tiH] : Pb, Cd, Cu 5 87} &E2& Ado] A Yelyton
Cr, Mn, Ni 37} &2 o] A yE.
- 4(Pb) % : Aol FAE SAMRT WA YER
- A 0.0044pg/md - FA4F - 0.0106pg/md - =4F 2 0.0173pg/nd
- HFe) 5% : o] FAtRT /], ARG BA e

- 73 0 0.1802pg/ - B4 0 0.1438pg/md - &4F ¢ 0.2967ug/nd

(H¥l:pg/ m)
S Pb d Cr Cu Mn Fe Ni Al Ca Mg As Be
74 | 0.0044 | 0.0002 | 0.0022 | 0.0055 | 0.0120 | 0.1802 | 0.0036 | 0.0279 | 0.0932 | 0.0823 | 0.0006 | 0.0000
PSIER=XS)|
(‘20‘19°§‘) SXAF | 0.0106 | 0.0006 | 0.0011 | 0.0083 | 0.0080 | 0.1438 | 0.0022 | 0.0252 | 0.1157 | 0.1064 | 0.0020 | 0.0000
SAF | 0.0173 | 0.0013 | 0.0003 | 0.0140 | 0.0110 | 0.2967 | 0.0016 | 0.1770 | 0.4249 | 0.2787 | 0.0051 | 0.0000
(F$1:pg/ m)
Pb Fe
15 15
112 1
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.03 0.3
0.0044 0.0106 00173 B | 01802 0.1438 0.2367
Ay S 24 Ay Lot 2
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O T AEAA 71ZK9. 7. ~ 9. 11) SAHLE 714E3
- P#7) L 22.8C(EHE) ~ 23.8C(HA)

- AET - 77.8%(HA) ~ 79.1%(6HS)

- HHEE 0 2.0m/s(H A, 3HE)

SRR 7188s >

BH712(C) AohEE(%) F45(m/s)
A 2R 2
IA 515 IA sk5 GA 515
1A A} 22.6 22.7 81.7 74.8 3.6 3.4
2URt 24.8 24.0 73.5 78.4 2.2 2.3
3YX} 24.3 22.4 77.1 80.5 1.3 1.5
AL X} 24.2 23.0 78.2 78.7 1.1 1.3
5AX} 23.1 21.9 78.3 83.0 1.8 1.6
¥ 23.8 22.8 717.8 79.1 2.0 2.0
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